A1 T3 FOINt-Slope Form
sart 1: Recap Your 6.3 Notes.
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On an equation that represents all of the equation’s solutions.
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Describe some aspects of the first ditch digger’s path.

* Constant rale - C‘\dnsb m Y Hr wtfj twe x's :

*Linear /
-wmumpi"- (0,2) 7 starkivg pomnt

=
-

d

So one way we can write an equation of a line is by creating an equivalent equation with the slope formula.

Using the formula for slope to make the equation for a linear function
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Find the equation for the line that represents the path of the second ditch digger.
e Slope:

e Given the ordered pairs the line goes through, how many different equations can we write to

represent the line that contains them? 6: one for each ordered pair.

e Points:
Using the slope and point, write
Point “ the equation of the line in point-
slope form
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How to find the equation of a line using function form: Writein Point-SlopeForm ~ £(x)=Y  », 4,
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- f(6) =10 ¥ | ‘%‘ 1. Interpret the function form as f(—6)=16 (b, rr.-)

) ((o )IU " ordered pairs (x, y) X2 Yz

')Q,Lj), flx)=y

= - jo - ‘
mr. 'O - "\ ll{ Rewrite function form as two m -_:'e-;( = ;—5" B %
‘i‘ o 3 ordered pairs. 6-3
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Using point-slope form to model

1. Toniis finishing a scarf at a constant rate. The table shows the number of hours Toni has spent
knitting this week and the corresponding number of rows in the scarf.

Hours | *1 2 | X2 4 ' 6
Rowsof | 38 44 l 50
Knitting ‘3' Y
a. Identify the independent and dependent variables; identify which one is x and which one is y.
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b. Find the rate of change from the table’s data.

e. What do¥s the y-intercept of the function represent? e
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C. Write an equation in point-slope form representing the IIW L !
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[13_,3)_ or f‘(,‘i‘l oc (6, s0)
Lg.:,g: 3(1-:,)1 oQ ‘J “ay=3(x1) or \J-so=3(,x'°) 3
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d. Use the equation to find the total rows if Toni knitted for 9 hours.
§-38° 3(9-2 10 L
3 = U ] 3IYUS
3+38 438 hours
=99 rouas

Exit Ticket: What do you know about the graph of a line if its written in point-slope form?
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